DOWNLOAD SOLVED FINAL

PAST PAPERS BY WAQAR SIDDHU

More in PDF From

VU Answer
Get All Solutions.



Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min) |z

Which statement about the General Least Square Method 1s true?

Answer ( Please select your correct option )

VUANSWers.com

p

Solution obtained by this method 15 always unique.

This 15 a numencal method for the solution of System of Linear Equations.

This method find an x that makes Ax as close as possible to the b.

correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell :03228043306

This method gives us exact solution of the system.

YNade by: YY/aqar Siddhu



Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) [z

Let v=(1,-2,2,0) . The unit vector in the same direction as v 1s

Answer ( Please select your correct option )

VUANSWeErs.com

p

correct

YNade by: Yy/aqar Siddhu



Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) |

||
Let 2 =(3,-2),v =(4,5) For the weighted Euclidean iner product {u,v) =4 + Su,v,

()=

Answer ( Please select your correct option )

VUANSWers.com

p

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306

YNade by: YY/aqar Siddhu




Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) |

| Let v=1(0,2,2,1) . The unit vector in the same direction as v 1s

Answer ( Please select your correct option )

VUANSWers.com

p

oo
3 a3
i &
333
5 9 1 Correct answer solved by Hadi
[0,—,—,—] Email : usmanraj20@gmail com
3373 Cell no: 03228043306

YNade by: YY/aqar Siddhu



Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) |

Let | * have the Euclidean inner product. Then u = (2,1,3),v = (I,T,k) are orthogonal for

Answer ( Please select your correct option )

VUANSWers.com

k=9
o

YNade by: Yy/aqar Siddhu



Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) |

Let A bexn X2 matriz whose entries are real. If 4 15 an eigenvalue of A with x a corresponding eigenvector in £, then

Answer ( Please select your correct option )

VUANSWers.com

Ax = Ax

p

YNade by: Yy/aqar Siddhu



Question No : 7 of 52

Marks: 1 (Budgeted Time 1 Min) |z

125 =95

E that A =
SRS [—.75 1.25

] has eigenvalues 2 and 0.5 Then onigin 1s a

Answer ( Please select your correct option )

VUANSWers.com

Saddle pomt
correct answer solved by Hadi
C correct Email : usmanraj20@gmail.com
Cell : 03228043306
Repellor
F
Attractor
de by: 1dd
nde by: aqar Siddhe




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) [z

I 0.5

B that 4 =
uppose tha [_0.3

0.6
1.4

] has eigenvalues 0.8 and 1.1 ."Then ongin s a

Answer ( Please select your correct option )

VUANSWeErs.com

Saddle pomt

correct

Repellor

Attractor

YNade by: YY/aqar Siddhu



Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min) |z

If A 15 an #2 X» matnx with inearly mdependent column vectors, then A can be factored as
A=0R
Where Q 15 an # X» matrix with orthonormal column vectors, and R 15 an »# X »

Answer ( Please select your correct option )

VUANSWers.com

Upp 2 tnangular matrx correct answer solved by Hadi
@ correct Email : usmanraj20@gmail .com
Cell : 03228043306
Invertible matrix
r
Invertible lower tnangular matrix
C

Invertible upper tnangular matrix

YNade by: YY/aqar Siddhu



Question No : 10 of 52

Marks: 1 (Budgeted Time 1 Min) |

The matrix equation A" Ax = A" b represents a system of linear equations commonly referred to as the

Answer ( Please select your correct option )

VUANSWers.com

p

normal equations for x

normal equations for x

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306

normal equations for A

normal ecquations for &

YNade by: YY/aqar Siddhu



Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) |z

By the Best Approximation Theorem, the distance from y to W 1s || y - ﬁ|| where y=

Answer ( Please select your correct option )

VUANSWers.com

Projw ¥
p

Projwy correct answer solved by Hadi
I Email : usmanraj20@gmail.com

correct Cell : 03228043306
Projyw
de by: 1dd
ade by: Y/aqar Siddhe




Question No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) [z

"u +y+ w" £ "u || + ||v||+ ||w|| for all vectors u,vand win an mner product space.

Answer ( Please select your correct option )

VUANSWeErs.com

True

correct

False

YNade by: Yy/aqar Siddhu



Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min) |z

The dominant eigenvalue for the matnx A =

ES 0 DS

18

n—looo

Answer ( Please select your correct option )

VUANSWers.com

A=1

p

correct answer solved by Hadi
correct Email : usmanraj20@gmail.com
Cell : 03228043306

YNade by: YY/aqar Siddhu




Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) [z

A square matrix A 15 invertible if and only if x = 0 15 not an eigen value of A

Answer ( Please select your correct option )

VUANSWeErs.com

True

correct

False

YNade by: Yy/aqar Siddhu



Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min) |

| A square matrix with orthogonal columns

matnx. (Click on most appropriate)

Answer ( Please select your correct option )

VUANSWers.com

p

15 an orthogonal

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306

may be an orthogonal

may not be an orthogonal

1s not an orthogonal

YNade by: YY/aqar Siddhu



Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min) |

| If two rows are orthogonal, they are

Answer ( Please select your correct option )

VUANSWers.com

linearly mdependent Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306
P
linearly dependent
P
de by: 1dd
YDade by: Yyaqar Siddhe




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min) |

I Ifx 15 orthogonal to both z and v, then x must be

to u +v.

Answer ( Please select your correct option )

VUANSWers.com

p

otthogonal
orthonormal Correct answer solved by Hadi

Email : usmanraj20@gmail com

Cell no: 03228043306 check
perpendicular

YNade by: YY/aqar Siddhu



Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min) |

i
: 2x+3y=3
The given system 4 has

6x+9y =7

Answer ( Please select your correct option )

VUANSWers.com

Unique solution

P
Infirutely many solutions
@
No solution Correct answer solved by Hadi
- Email : usmanraj20@gmail com

Cell no: 03228043306

None of these

YNade by: YY/aqar Siddhu



Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min) |

0
. . 0 .
Which statement about the matr 5 15 false?
2

T O o~

Answer ( Please select your correct option )

VUANSWers.com

Eigenvalue 2 has Algebraic multiplicity 1

p

Eigenvalue of the matrix are 1, 2 and -1.

Charactenistic polynomial of the matrix 1s (l = ii) (2 = ,&)2 (—l = fi) :

Eigenvalue -1 has multiplicity 1.

YNade by: Yy/aqar Siddhu



Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min) |

(
'911 a11‘

If A= [ ] 15 diagonalizable then & has 2 distinct eigenvalues.

a21 é?25'.‘

Answer ( Please select your correct option )

VUANSWers.com

True
0 1 Correct answer solved by Hadi
PR 1 0 Email : usmanraj20@gmail com
Cell no: 03228043306
False
-
de by: 1dd
YNade by: Yyaqar Siddh



Question No : 21 of 52

Marks: 1 (Budgeted Time 1 Min) |

A is diagonalizable if & = POP™ Where

Answer ( Please select your correct option )

VUANSWers.com

p

D 15 any matrix and P 15 an mvertible matnx

D 15 a diagonal matrix and P 15 any matrix

D 15 a diagonal matnx and P 15 mvertible matrix

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306

D 15 a mvertible matnx and P 15 any matrix

YNade by: YY/aqar Siddhu



Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Min) |

Which statement 1s FATLSE.

Answer ( Please select your correct option )

VUANSWers.com

p

If Ax = Axfor some real number A then A 1s known as eigenvalue of t he matrix A

The eigenvalues of any matrix are on its main diagonal.

In order to find the eigenvalues we solve the equation |A = /'i| =0

An eigenspaces of A 1s the Null space of some matrix.

YNade by: Yy/aqar Siddhu



Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) |z

|| -
If a set S={ I x* ] 1 a basis for p, and [‘ID]S= (2,4 ,7), then which of the following is the most approprate option 7

Answer ( Please select your correct option ) U UFnSWG rS. Com

py=2—4x+7x?

PR
py=2-4x- 7x°

@

. po=2+4x+ix 2 Correct answer solved by Hadi

Email : usmanraj20@gmail com
Cell no: 03228043306

2y = 4x-Tx?

) YNade by: Yy/aqar Siddhy




Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) |

I Which of the following 1s the set of standard basis for R3 7

Answer ( Please select your correct option )

VUANSWers.com

({1850 5 [05150) 3 (1p054)]

=
{(1,0,0),(0,1,0),(0,0,1)} Correct answer solved by Hadi
@ Email : usmanraj20@gmail com
Cell no: 03228043306
- S8 W ) O B

{500,005 (051,00 (1, 1, 1)

YNade by: YY/aqar Siddhu



Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min) |z

1 1
Consider the bases for R? givenby B ={ g ; bz] and C' = [ gl ; 52 ]

following 1s the change-of-coordmates matrix from 5 to O 7

r
; where b, =

o]

2

|

=il

|

y L=

|

=3
3

=2 =2 o=l
], £2=[ 1] , also assume that P3<—c=[ 3 1];the:nw'hit:hof the

Answer ( Please select your correct option )

VUANSWers.com

p

1 1

Focz™ _3 -9
1 -1
FPocz™ 0 1

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306

YNade by: YY/aqar Siddhu



Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min) |

If the general term of a typical signal 1s (0.6) k, then determine which of the following is the signal for £ = -2 7

Answer ( Please select your correct option )

VUANSWers.com

p

(0.6)" =0

(0.6 =0.6

(0.6 = (0.6)’

(0.6 =1/(0.6)°

Correct answer solved by Hadi

Email : usmanraj20
Cell no: 032280433

¥¥Yade by: Yy/aqar Siddhy



Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) |z

| If the Casorati matrix 1s not mvertible , then which of the following is the most appropriate option regarding the associated signals 7 -

Answer ( Please select your correct option ) U UFnSWG rS. Com

The signals are linearly independent . Cortrect answer _solved by Hadi
e Email : usmanraj20@gmail com

Cell no: 03228043306

The signals are inearly dependent .

The signals may or may not dependent .

The signals may or may not mmdependent .

YNade by: YY/aqar Siddhu




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) {s

I A
If {y.}=(...1,07,0,-0.7,-1,-07,0,07,1,07,0,...} and 035y, ,,+0.6y,,,+042y, =2, ; r

T
k=0
then which of the following 1s the walue of z, 7

Answer ( Please select your correct option ) U UFnSWG rS. Com

0.840
P

0.04%
@

~0.770 Correct answer solved by Hadi
- ) Email : usmanraj20@gmail com

Cell no: 03228043306
&
YNade by: Yy/aqgar Siddhe




Question No : 40 of 52

Marks: 1 (Budgeted Time 1 Min) |

T(&,)=4e, - ¢, +7c, . Determine the value of [ 7(5,)] , ?

Suppose that B Z{ b, b, } 15 a basis for ¥ and C' = [ Chiiny 6‘3] 15 a basis for W .Let T: IV —= W be alinear transformation with the property that T(bl) =3¢,-2¢, +3¢, and

Answer ( Please select your correct option )

VUANSWers.com

p

YNade by: Yy/aqar Siddhu



Question No : 41 of 52

Marks: 2 (Budgeted Time 4 Min) |z

Determine whether the set of vectors are orthogonal or not.

o 3]
-4\ |1 3
0l 5

Answer ( Please click here to Add Answer )

VUANSWers.com

Dﬁ@é@l% E_'g["ﬁ;,lvj (o

Il‘-l-:sr'mal =] | Atial 2 B £ ul=== §| == S

YNade by: YYaqar Siddhu
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Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Which statement about the General Least Square Method 1s true?

“~

=

Answer ( Please select your correct option )

Solution obtained by this method 15 always unicue. -~
r

This 15 a numencal method for the solution of System of Linear Equations. -
p

This method find an x that makes Ax as close as possible to the b. Correct answer '501"'3(1 by Hadi =
- Email : usmanraj20@gmail com

Cell no: 03228043306

This method gives us exact solution of the system. -

F
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Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Let v=(1,-2,2,0) . The unt vector in the same direction as v 1s

“~

=

Answer ( Please select your correct option )

122, :
“l1333
1 =2:9 Correct answer solved by Hadi =
- [§?30] Email : usmanraj20@gmail. com
a n S Cell no: 03228043306
-1 2 -2 =
—,—,—,0
2 [3 373 ]
1221 -
01133733
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Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Let v=(1,-2,2,0) . The unt vector in the same direction as v has magntude -
Answer ( Please select your correct option )

3 Correct answer solved by Hadi =

- Email : usmanraj20@gmail com
Cell no: 03228043306

1 “~
p

2 _~
F

1 =
F
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Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) E] =

Let | * have the Euclidean inner product. Then u = (2,1,3),1) = (I,T,k) are orthogonal for

out of

“~

Answer ( Please select your correct option )

k=9 -
-

k o _3 -~
o

k = _9 “~
~

k=3 -
-~
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Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) E] =

Let | * have the Euclidean inner product. Then u = (k, -3,1),v = (-3,5,6) are orthogonal for

out of

“~

Answer ( Please select your correct option )

k=2 -
-

k = _2 -~
o

k=3 -
~

k = —3 A~
-~
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Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) EI &l

Ifu and v are orthogonal then

“~

Answer ( Please select your correct option )

b = el -
b= bl =
bl = bl :
o | b= =kl -
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Time Left
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) Bl A
0.5 086 s — =
suppose that 4 = has eigenvalues 0.8 and 1.1 .Then ongin 1s a
-0.3 14 ‘
Answer ( Please select your correct option )
Saddle pomt Correct answer solved by Hadi -
Email : usmanraj20@gmail com
O Cell no: 03228043306
Repellor -~
(\
Attractor =
F
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) EI E
0.5 086 : o -
suppose that 4 = has eigenvalues 0.8 and 1.1 .Then ongin s a
-03 14 ‘
Answer ( Please select your correct option )
Saddle pomt -
~ Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306
Repellor =
(\
Attractor -
p
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Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

If A 15 an 2 X» matnx with inearly independent column vectors, then & can be factored as

A=0R

Where Q 15 an »2 X» matrix with orthonormal column vectors, and R 15 an » X »

“~

Answer ( Please select your correct option )

Upper triangular matrix -
p

Invertible matrix -
p

Invertible lower triangular matrix -
F

Invertible upper triangular matrix -
C
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Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)

The QE-Decomposttion of a 3X3 matrix & gives

“~

=

Answer ( Please select your correct option )

matrix Q of order 3x1 and R of order 3%1

matrix Q of order 3%3 and R of order 3x1

matrix Q of order 3x3 and R of order 3x3

; ans

o O -

(= =)
-0 O

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306
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Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
The QE-Decomposttion of a 5X 2 matnx A gives -
Answer ( Please select your correct option )
matriz Q of order 5x1 and R of order 5x1 -
~
matrix Q of order 5xX2 and R of order 2x5 -~
(\
matrix Q of order 5X2 and R of order 2% 2 -
p
Start Time: 11:33 PM 01— | | |
119:00 3 O »m Q|-
Time Left fd
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Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) Ial 2
Ifu,v and w are vectors in a real mner product space, and k 1s any scalar , then which one of the following 1s not a property for the inner product space -
Answer ( Please select your correct option )
{0,v)={v,0)
-
(u,kv} = k(u,v) -
(\
(v —wh={u,v)+ {u,w) =
p
Start Time: 11:33 PM Tl | | | \
119:00 g = O« » W o |-
Time Left LI
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Z



/- ¥U Examination System {CLIENT) YUTES 6.5 ::.... Fall 2012 {(FinalTerm)

@::.;( v Ig http://localhost/YUTES/client/Instructions. aspx

LI l_g— 1—i;_l :—i: l}:’ Live Search

=18 x]

2]

File Edit VYiew Favorites Tools Help

<+ Favorites l 5 @ Suggested Sites » @ | Web Slice Gallery ~

@ YU Examination System (CLIENT) VUTES 6.5 :::... Fall... |

@ B - F*;'B v Page v GSafety v Tools »

o~

Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) EI B
0 0 0 -
. : . 1 0 0l .
The dominant eigenvalue for the matnx A4 = 0 i 0 18 ‘
0 0 1
Answer ( Please select your correct option )
A=1 -
-
A==3 Correct answer solved by Hadi =
e Email : usmanraj20@gmail com
ans Cell no: 03228043306
/1 = _1 A~
{
A=0 -
-~
Start Time: 11:33 PM 12 | ' | N
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Time Left |
paper.aspx o ¥ % Localintranet a v | R100% v g



/= ¥U Examination System (CLIENT) YUTES 6.5 ::... Fall 2012 (FinalTerm)

@:Z—'\}( v |g http://localhost/YUTES/client/Instructions. aspx

LI I_g__ i—‘_;] ixl l,’:/ Live Search

File Edit Yiew Favorites

Tools Help

-7 Favorites | 9= £ Suggested Sites » @ | Web Slice Gallery ~

@ YU Examination System (CLIENT) YUTES 6.5 :::... Fall... |

@ B - pég v Page v Safety v Tools » @v

Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

of a matrix 15 the sum of main diagonal elements of that matrix. -
Answer ( Please select your correct option )

Trace -
p

Determinent -
p

Eigenvalue -
F

Sum =
C
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Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min)

If a square matrix has orthonormal columns, then it also has

“~

2

Answer ( Please select your correct option )

orthonormal rows =
Correct answer solved by Hadi
e Email : usmanraj20@gmail com
a n S Cell no: 03228043306
orthonormal diagonal -
-~
14 5 ] .
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Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min)

B =

If x 15 orthogonal to both 2 and », then x must be tou —v». =
Answer ( Please select your correct option )

orthogonal -~
r

orthonormal 1fu.- v then this -~
P option

perpendicular Email : usmanraj20@gmail com =
@ a n S Cell no: 03228043306

parallel -
F
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Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

=

If a matriz T has orthonormal columns, then -
Answer ( Please select your correct option )

UuT =
) ans

o =
p

U-l -
~

U+UT =
-~
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Time Left

16
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Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) EI A
If 5 is an eigenvalue of A and x is a corresponding eigenvector, then the eigenvalue of A% is -
Answer ( Please select your correct option )
5 A
r
25 Correct answer solved by Hadi -
® A2= 5(2)=25 Email : usmanraj20@gmail com
an_s Cell no: 03228043306
10 —
{
15 -
F
Start Time: 11:33 PM 17 | 2 | N
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Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

i3 e f] -
The eigenvalues of the matrix [0 =5 1 | are ‘
ELAN we read down to up
Answer ( Please select your correct option )
3,-4.1 a
~
4253 Correct answer solved by Hadi 3 -
O Email : usmanraj20@gmail com -5
an_s Cell no: 03228043306 4
3,-5,1 =
{
4,1,-5 R
~
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Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min) IQI =

a2’1 a22

1 Gz | . : x ;
If A= [ ] 15 diagonalizable, then A 1s nvertible.

“~

Answer ( Please select your correct option )

True -
5
ans
False -
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) EI
An »Xxn matnx A 15 diagonalizable if and only if A has -
Answer ( Please select your correct option )
TR L B Yete Correct answer solved by Hadi ~
» linearly mdependent eigenvector SR ——— -
e Cell no: 03228043306
»* linearly independent eigenvectors -
F
zn +1 linearly independent elgenvectors -
(\
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Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) E| =
Let A have eigenvalues 2, 5, 0,-7, and -2. Then the dominant eigenvalue for A 1s ~
Answer ( Please select your correct option )
A=5 =
r
A=0 -
p
o Correct answer solved by Hadi -
~ Email : usmanraj20@gmail com
Cell no: 03228043306
A=2 =
p
Start Time: 11:33 PM 21 | j | | | .
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Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Which statement 1s FATLSE.

“~

Answer ( Please select your correct option )
P If Ax = Axfor some real number A then A 15 known as ejgenvalue of t he matrx & —
5 The eigenvalues of any matrix are on its main diagonal. :
ans ;
- In order to find the eigenvalues we solve the equation |A = /'1| =0 =
. An eigenspaces of & 1s the Null space of some matrix. :
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) EI
Algebra 1s a transformation of real life problems mto sort of -
Answer ( Please select your correct option )
logical representation Correct answer solved by Hadi -
e Email : usmanraj20@gmail com
a n S Cell no: 03228043306 =
mathematical representation -
p
physical representation =
{
illogical representation -
F
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) EI &l
1055 =
Ifreduced echelon form of a linear systemi1s |0 1 1 6| when free vanable x; = 0, then which of the following 1s true for t7 -
0 0 0 0
Answer ( Please select your correct option )
('- The particular solutionis{ 0, 5,6 ). -
& The particular solutionis( 6, 5, 0) . -
- The particular solution is( 5,6,0 ) ; -
- The particular solution is( 0,6,5 ) : -
Start Time: 11:33 PM 124 | B | | N
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Question No : 25 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

. . . L sl
It the wector equation ¢, {)1 + ¢, {)2 = 0 with ¢, = 0 = ¢, then which of the following is true for { v, v} 7

“~

Answer ( Please select your correct option )
It 1s a linearly independent set. Correct answer solved by Hadi -
C Email : usmanraj20@gmail com
a_n_s Cell no: 03228043306 =
It 15 a linearly dependent set. -
p
The system of equations 1s inconsistent, =
{
The system of equations 1s non- homogeneous. -
F
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Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min) (=] A

Which of the following 1s true for the linear operator L defined by L[ lall ]: [ al] 7
@3

“~

Answer ( Please select your correct option )
It 15 an enlargement by a negative scale factor. -~
r
It is a shear. ) ; =
P Correct answer solved by Hadi
Email : usmanraj20@gmail com
a_n_s Cell no: 03228043306 v
It 1s a reflection about X —axis. —
{
It 15 a reflection about ¥ — axis. =
F
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) EI B
4 -1 | . -
If A= S E then which of the following 1s the value of det(A) ?
Answer ( Please select your correct option )
7 A
-
— 1? ~
(\
Correct answer solved by Hadi v
Ellld;.‘l . Uolllall dﬁa@‘ylldﬂ-LUlll o
I 43)-(-1)5)= 17
@ a n S Cell no: 03228043306
11 -
~
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) EI &l
1 2 3 =
If thematrix A=|0 1 2| ,then which of the following 1s true about it ? ‘
0 0 2
Answer ( Please select your correct option )
Its determmant 1s 0. -
~
Its determinant is 1. -
-
Its determinant is 2. -
-~
Its determinant is 4 . -
~
Start Time: 11:33 PM 28 | ] | A
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Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) (=] A

1
If the matrz A= |0
0

O = Lh
Lo I N

, then which of the following is true about it ?

“~

Answer ( Please select your correct option )

T P Correct answer .solved by Hadi =

- Email : usmanraj20@gmail com
an_s Cell no: 03228043306

Its determinant is 2. -
p

Its determinant is 4 . -
{

Its determmnant 15 6. -
F
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Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) EI &l
4 35 =
If the determinant of the matrixk A=|3 1 1| 15 32 and the matnx B is obtamned by multiplying any row of A with an mteger value 4 |, then which of the following 1s true about the matrix 5 ? 4
5 ¢ F
Answer ( Please select your correct option )
Its determmant1s 18 . =
~
Its determinant 1s —32. -
-
Its determinant 15 128 . -
; | think
The nformation 1s not sufficient to calculate the determinant . -
~
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Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min) (=] A

If a set W be a subspace of a vector space ", then which of the following 1s NOT true for it 7

“~

Answer ( Please select your correct option )

r

It must be closed under the scalar multiplication .

It may or may not be closed under the operation of addition .

It must have an addittve inverse of each element .

It must be commutative under the operation of addition .

Start Time: 11:33 PM

119:00 ()

Time Left

Correct answer solved by Hadi
Email : usmanraj20@gmail com
Cell no: 03228043306
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) EI B
Let a set & 15 a basts of a vector space ¥, then which of the following 1s NOT true about it 7 -
Answer ( Please select your correct option )
It spans . -
r
It is linearly independent. -
p
W Correct answer solved by Hadi -
- It 15 inearly dependent. Email : usmanr320@gmail com
a n S Cell no: 03228043306
Each element of S belongs to . -
F
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119:00 FigR S I KO
Time Left |
paper.aspx o ¥ % Localintranet a v | R100% v g



/= ¥U Examination System (CLIENT) YUTES 6.5 ::... Fall 2012 (FinalTerm) ...: - |5|}J
@:—7 v I@ http://localhost/YUTES/client/Instructions. aspx LI l & ‘ *'ﬂ I A ' }’ Live Search R “'

File Edit Yiew Favorites Tools Help

<7 Favorites l 5 @ Suggested Sites » @ | Web Slice Gallery ~

@UU Examination System (CLIENT) VIUTES 6.5 :::... Fall... | I @ *B - & @ v Page v~ Safety v Tools ~ @v
Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) EI A

11 [o] [o -
faset = 0l,111],]0 is a basis for B> and [11; Ben which of the following 1s the most appropriate option ? 4
0 0 1
Answer ( Please select your correct option )
1: A 3 =
= v={1,0,0) €R
5 f 3 =
P v=(2,3,4) € R
ro ¢ 3 Correct answer solved by Hadi =
B (759:3) &R Email : usmanraj20@gmail com
Cell no: 03228043306
r £ 3 v
K ={2,7,4) €R
Start Time: 11:33 PM 33 _: | | N
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) EI #
It P 1s a polynomial of order ‘77", then which of the following 1s true for the dim (5,) 7 -
Answer ( Please select your correct option )
dim(F,)=n-1 -
p
: _ Correct answer solved by Hadi -
~ dm(5,)=n Email : usmanraj20@gmail com
Cell no: 03228043306
dm(B)=n+1 —
F
dim(5,)=1 =
(\
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Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) EI
1 32 -1 5] -
2 2 1 1 4 : 5 : ; :
Let A= 141 2 3| the row space of A is the subspace of R~ . Identifyy the set by which the row space of A4 1s spanned ? ‘
3 D 3 =4 2

Answer ( Please select your correct option )

Pe12, =1, 3302 4,2, 6):02.1,1.3)5(~1,1,2,-4);(6.3,3.9)]

p

01.3,2520.050 .02, 6.,4.,42.,000,0-1,4,1,2, 28),053,12.3,6.~9)}

(1322180502 2 L A 1 4, 1 258 Y (355.3,59,.2))

{ (02139 5030258 5 15 { 20 108 (o120 = 0 1 (5 043,27
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Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) EI
1. 3 r : . ; . .
IfA= 5 4 and x € Row (A) , then which of the following is the most appropriate option 7
Answer ( Please select your correct option )
x=6,(1;3) +¢;(2,4) =
~
I _ Correct answer solved by Hadi >
~ a=erl a2l al Email : usmanraj20@gmail com
a n S Cell no: 03228043306
x= €i(1,4)+6,(3,2) =
{
x=c(2,3)+¢,(4,1) =
~
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) EI =
| : 1 £y r M1 r [-1]c [-6] ¢ _[-4 | - | =
Consider the bases for 8 gwen by B =[ b ; bz] and C' = { Crigits ] ; where b, = ol b, = (| €= Ak C,= 7 ; then which of the following 1s the change-of-coordinates matrix
from C to 87 ‘
Answer ( Please select your correct option )
= [=2 3 =
P B 1 -1 =
C B 0 1
Feigs s Correct answer solved by Hadi -
ol Baco= Email : usmanraj20@gmail com
4 7 Cell no: 03228043306
s _[-10 -1 =
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Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

| 1 1 =
If3B ={ bisbaeiy b } and & 1s the standard basts { Eoyoinge, ] in K" ; then which of the following is the value of [bl]E ?
Answer ( Please select your correct option )
E _“
.
b+ & >
F
E) -
~ |7
b 5
~ |7
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Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

=

If {yk}={ o W B« UGS o R i D7/ P 0 O o7 N1 R 035y, 2t 06 Y, +042y,. =2, | -
T o
k=0
then which of the following 1s the walue of z, 7
Answer ( Please select your correct option )
0.840 -
-
0.04% -
p
-0.770 Correct answer solved by Hadi =
'S Email : usmanraj20@gmail com
ans Cell no: 03228043306
=1.139 -
-~
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